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Fawsl | Rdfm | CEIE | R LR R (8 HERER
MQ10 0505 0.1-100 250 M7G:(100 + 30)ppm/C -55~125
MQ10 1111 0.1-1000 1500 M7G:(100 + 30)ppm/°C -55~125
MQ10 2525 1-2700 3600 M7G:(100 + 30)ppm/C -55~125
MQ10 3838 1-5100 7200 M7G:(100 + 30)ppm/C -55~125
MQ20 0402 0.1-47 200 COG:(0 + 30)ppm/C -55~125
MQ20 0603 0.1-100 250 COG:(0 = 30)ppm/°C _55-125
MQ20 0805 0.1-240 250 COG:(0 + 30)ppm/C -55~125
MQ20 1111 5000-100000 100 X7R: + 15% -55~125
MQ30 0402 0.1-47 200 COG:(0 = 30)ppm/°C _55-~125
MQ30 0603 0.1-100 250 COG:(0 + 30)ppm/C -55~125
MQ30 0805 0.1-240 250 COG:(0 + 30)ppm/C -55~125
MQ30 0505 0.1-100 250 COG:(0 = 30)ppm/°C _55~125
MQ30 1111 0.1-1000 500 CO0G:(0 + 30)ppm/C -55~125
MQ30 0709 1-100 500 COG:(0 + 30)ppm/C -55~125
MQ40 0402 0.1-33 200 COG:(0 = 30)ppm/°C _55-~125
MQ40 0603 0.1-100 250 COG:(0 = 30)ppm/°C _55-~125
MQ40 0805 0.2-150 250 COG:(0 + 30)ppm/C -55~125
MQ50 0505 0.1-100 250 COG:(0 = 30)ppm/°C _55~125
MQ50 1111 0.1-1000 1500 COG:(0 = 30)ppm/°C _55-~125
MQ50 2525 1-2700 3600 COG:(0 + 30)ppm/C -55~125
MQ50 3838 1-5100 7200 COG:(0 + 30)ppm/°C -55~125
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1 ¥a 5 L O1oF N BRI - 8 - 455
1) EEMAKEE, SHERER, BRSRTE, §QE, KES; =P b EGSRL @ % (2EBE= um)
0) BEBEMELN, BEREN; c +025pF | Cn < 10pF z SHTRL - R - B
3) BTN, ENEREEER. L XpaRi-A- 5
D +0.5pF ZN E@eBH - i - 55
2 BMA AW His54% ($H4ER, BAT 1111, 2525, 3838)
WK/ B TRR R SRATER. TR0, RBAEAUAR. RN, AT, TSR, e, K. F =1% BN A S|% (HHER, BAT 1111, 2525, 3838)
R FHICRAEE. RW =m51% (EAF 1111, 2525, 3838)
+2% (EoEIEAE: . .
RN BTREREL, BRET. BA. SREET. MEREN. ¢ AN ARERSIE (BT 1111, 2925, 3636)
MS M (R, EHTF 1111, 2525, 3838)
3 iT&ET6 J 5% Cr = 10pF MA #% (B4R, BAT 1111, 2525, 3838)
MN T (SR, BHAF 1111, 2525, 3838)
Ma 10 0805 M7G 2D 101 J N D : 02 K =10% FN FREZ S (AER, BATF 1111, 2525, 3838)
] = ] ﬁl\ﬁZRTj— N=| 0 ] ﬁ'\*ff\ Eﬁg% %lﬁﬁ#‘lﬁ = N AETT g @E*&*& AR 5 TH (T;.‘—’ , ~§ 1111\ 2525\ 3838)
/ﬁﬂllg:]_'f FED%?U ,T_%EE /mg%\ﬁ @iﬁEEEE EE,@% jtitFﬁ?&E ﬁ?:_ct };J:E'PCEE @:%Zﬂ:/:—ﬂt *%:?E M 1_20% Eﬁar——‘%&lmwmjgﬁ l—{zﬁ:":
AN TREH ) ( S4EER, BAT 1111, 2525, 3838 )
=1 =2 *=3 =4 *=5 =6 =7 #*=8 %*=9 = 10 = 11

*9 BEERD

ANE "2 FRAES SR TR HEEA (pF) R FOREE (mm) BERZ (mm)
MQ 5 QZEENERSR 10 | RATUEMHERRSHNSE, MR 0505, 1111, 2525, 3838 & 01 A 0.60 2015
&3 SMERSREB (mm) o0 0.2~100 D 1.00 +0.15
gﬁgg gﬂf S L W T(min) [ Tmax)| B |L(Min)| W, T, 2; [F) 1-22 iz-;i
1111 |MS/MN Ry LR 279705 1279051 0.76 | 2.59 / 6.35 [2.36+0.15/0.10+0.03 1111 0.3;0.4 y 1:60 ioizo
2625 |MSIMN | ] IHW 584705 1650+025| / | 419 | / | 127 |6.10£0.250.10+0.03 o y o oo
3838 |MS/MN - =Tk | 965703 |9.85+0.30 / | 4.32 /| 19.058.89+0.25/0.25+0.13 Py o700 i 20 o0
0505 |N/D/TN /— 1.40+0.64/1.40£0.38| 051 | 1.45 |0.250%) / / / p— 5100 N 380 050
1111 |N/D/TN I 2791089 1279+£051| 0.76 | 259 |0.38"050| / / /
2525 |N/D/TN 584105 1650025 / | 419 |1.0max| / / / *®10 BEER
3838 |N/D/TN i 9.65'0% 19.85+0.30| / | 4.32 |1.2max| |/ / / B- £ R- G C-&%
*®4 BERY *5 FEHE F 11 SBERIRIHE
o R H M7G 1H 50V 2F 300V 3C 1500V 3H 5000V =R 01 02
2A 100V 2H 500V 3D 2000V 3L 7200V SEMIRTRES ¢ 1mm HIL & BRI @)ﬁ;&gféi{f%;ﬁii;f’i,m%?i?}%ﬂﬁﬁ
BREAWFE (100+30)ppm/C| 2C 150V 2J 600V 3E 2500V
2D 200V 2K 800V 3F 3000V
TIRRESERE | 55T ~125%C 2E 250V 3A 1000V 3V 3600V

*6 IREAE

RAZFRE, IRMNARESENENE, ENRJEER 0 9N, By pF, #lan. 103=10,000pF ( 10nF ) ;
10pF W TFES, AR FJm/NE=, f1a0: 3R9=3.9pF .
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4 10 &3 M7G FREER
0505
NME | BE o HEER | AME| BE o HEER | AME| BE i MEER
R | (pF) TETHBEV)| RS | (pF) TE O THBEV)| RS | (pF) TEITHhEE(V)
OR1 0.1 5 2R2 2.2 160 16
OR2 0.2 2R4 2.4 180 18
OR3 0.3 - 2R7 2.7 200 20
OR4 0.4 3RO 3.0 220 22
OR5 05 3R3 33 240 24
OR6 0.6 3R6 36 270 27
OR7 0.7 .C.D 3R9 3.9 300 30 g%
OR8 0.8 4R3 43 5 G D 330 33 25%
OR9 0.9 4R7 4.7 360 36
1RO 1.0 4 & | 5R1 5.1 4R | 390 39 FoG | g
1R1 1.1 150 | /% | 5R6 5.6 150 | Bf& | 430 43 Jo Ko M
1R2 1.2 250 | 6R2 6.2 250 | 470 47
1R3 1.3 6R8 6.8 510 51
1R4 1.4 7R5 75 560 56
1R5 15 b 8R2 8.2 620 62
1R6 1.6 9R1 9.1 680 68
1R7 1.7 100 10 750 75 gﬁ
1R8 1.8 110 11 . 820 82 20%
1R9 1.9 120 12 Y 910 91
2R0 2.0 130 13 101 100
2R1 2.1 150 15
1111
OR1 0.1 5 4R7 4.7 750 75
OR2 0.2 5R1 5.1 820 82 500 | 7R
OR3 0.3 5 C 5R6 5.6 910 91 BE
OR4 0.4 6R2 6.2 5. C. D 101 100 1500
OR5 05 6R8 6.8 111 110
OR6 0.6 7R5 75 121 120
OR7 0.7 .C.D 8R2 8.2 131 130
OR8 0.8 9R1 9.1 151 150 300 | 4
OR9 0.9 100 10 161 160 BE
1RO 1.0 110 11 181 180 1000
1R1 1.1 120 12 201 200
1R2 1.2 130 13 221 220
1R3 1.3 150 15 241 240
1R4 1.4 yE | 160 16 e | 27 270 F. G.
1R5 15 500 |EB% | 180 18 500 |EBJE | 301 300 Jo KoM
1R6 16 1500|200 20 1500 331 330 o00 | TR
1R7 1.7 220 22 361 360 ?o%
1R8 18 240 24 - 391 390
1R9 1.9 b 270 27 Ry 431 430
2R0 2.0 300 30 471 470
2R1 2.1 330 33 511 510
2R2 2.2 360 36 561 560 100
2R4 2.4 390 39 621 620
2R7 2.7 430 43 681 680 i{f
3RO 3.0 470 47 751 750 30%
3R3 33 510 51 821 820 50
3R6 36 560 56 911 910
3R9 3.9 620 62 102 1000
4R3 43 680 68

2525

ZE| ZE | . N ZE| ZE | . N =E| 2E | . N
wm| (oF) | FE | BERE | g | (op) | FE | WERE k@ | (p) | BE | HERE
1RO 1.0 120 12 221 220 R
1R1 1.1 130 13 241 240 2500V| BE
1R2 1.2 150 15 271 270 3000V
1R3 1.3 160 16 301 300

1R4 1.4 180 18 331 330

1R5 1.5 200 20 361 360 1500V ?ESE
1R6 1.6 220 22 391 390 2000V
1R7 1.7 240 24 431 430

1R8 1.8 270 27 471 470

1R9 1.9 300 30 511 510

2RO 2.0 330 33 = | 561 560

2R1 2.1 360 36 =z 621 620 _

2R2 2.2 390 39 3600V| 681 680 T KG\I\/‘lj\ -
2R4 2.4 B.C.D - 430 43 751 750 1000V B/
2R7 2.7 2500v| BE 470 47 F. G. J. 2500V 821 820 1500V
3RO 3.0 3600V 510 51 K. M 911 910

3R3 3.3 560 56 102 1000

3R6 3.6 620 62 112 1100

3R9 3.9 680 68 122 1200

4R3 4.3 750 75 152 1500 R
4R7 4.7 820 82 182 1800 500V | %
5R1 51 910 91 202 2000 800V
5R6 5.6 101 100 222 2200 B
6R2 6.2 111 110 242 2400 300V | %
6R8 6.8 121 120 272 2700 500V
7R5 75 131 130 R

8R2 8.2 151 150 B E

9RA1 9.1 161 160 3000V

100 10 F. G. J. 181 180

110 11 K. M 201 200

3838

1RO 1.0 130 13 271 270

1R1 1.1 150 15 301 300

1R2 1.2 160 16 331 330 3600V
1R3 1.3 180 18 361 360

1R4 1.4 200 20 391 390

1R5 1.5 220 22 431 430

1R6 1.6 240 24 471 470

1R7 1.7 270 27 511 510

1R8 1.8 300 30 561 560 2500V
1R9 1.9 330 33 621 620

2RO 2.0 360 36 &;}!;E 681 680

2R1 2.1 390 39 720%\/ 751 750

2R2 2.2 430 43 821 820

2R4 2.4 B.C.D 470 47 911 910

oR7 27 L & | 510 51 102 1000 | F. G.

3RO 3.0 3600V| BE 560 56 F\KG\N}J\ 3600V 112 1100 J. KL M

3R3 3.3 7200V| 620 62 : 122 1200 1000V
3R6 3.6 680 68 152 1500

3R9 3.9 750 75 182 1800

4R3 4.3 820 82 202 2000

4R7 4.7 910 91 222 2200

5RA1 5.1 101 100 242 2400

5R6 5.6 111 110 272 2700

6R2 6.2 121 120 N 302 3000

6R8 6.8 131 130 zgg 332 3300

7R5 7.5 151 150 500%\/ 362 3600 500V
8R2 8.2 161 160 392 3900

9R1 9.1 181 180 432 4300

100 10 - 201 200 472 4700

110 11 F\KG\N\lJ\ 221 220 / 512 5100

120 12 A 241 240
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MK &M (25°C £2°C)

MERESEAR

RFERAIED]
tan &

MRS

Cr, < 1000pF,
1MHz £ 10%
Cn > 1000pF,
1kHz + 10%

MR [E -
1.0Vrms = 0.2Vrms

Cr = 50pF, tan® < 0.15%;
5pF <Cx<50pF, tans < 1.5(150/Cq+7) x 107%;
Cr < 5pF, &,

Y2 A Ri

TIXEE: FEHRE Uy 3
500V ( BUE/NE )
X ATE . 2min + 5s

Ri (25°C ) = 100000MQ = 1000M Qe p F ( BRZZ/NE ) ;
Ri (125°C ) = 10000MQ & 100M Qe p F ( BU&/NE ) ,

[WeRl) sosmenasa

6 AIEMIEERT S

[DLEAES

MK E

Up>1250V, 1.2Up;
500V<Us < 1250V, 1.5Ugq;
Us < 500V, 2.5U,
TIRXATE: 5s+1s
SRIBEA< 50mA

TEZF. KIFAT R

RIWEBE: Ug>1250V, Ug;
500<Us < 1250V, 1.2Ug;
Us < 500V, 2Ugo

B MR 545 M EEIERR
EBREFEE: 125°C;
N=] ;I:FEE Tﬁﬁﬁ%ufﬂg —550C, 9[‘@19&?%?&1’730
e PBINKEL. 5; BAERBIVIENEEDN + 1% 5 + 1pF, BURKE,
FrEEAtiE . 30min,
R FIEAE &
FEETE 110°C ~140°C T & H
¥, 1%4F 30s~60s, NERGTR, RUFNBREENR, RinEEREARBILEX
WEE‘@?;" 5D‘EJIJ.J§' 26000 iSOC; m?gﬁfgﬂl‘] 25%,
7RimAtE . 10s + 1s; BHAEEATFRETEE N,
RIUARE . 10mm;
RIBUREL 1K,
WE . 6h~24h,
SR, 40°C +2°C;
HIEE: 90%~95%; T iRtn, FREEMT;
AR F4ASIE]: 21d (500+10) h; | BAE. S¥ENEEML, AC/C < 2% < 1pF, BBKHE;
R RWSEREZE 15min KT PREBIEY: FNEBIWRESIHREREN 2 %, BEASE;
e EIRE: Uz, 5s; YR, R, = 25000MQ 5 R x Cy = 250s, BURINE,
WE . 6h~24h,
4 a] ;
o oSBFm 200ON, | AR, FA;
’ ’ =1 STIHA = o/ v .
é—/n%%ﬁ ﬁt%in%g 1250(:; EE,*GE: '—5?ﬂ§u/)ﬂui1§.*ﬁttu AC/C < 2% j?, TDF, Elixj(%,

ALY NBEIYVHRESVIRERER 2 F, RAE;
YsZ P, R = 40000MQ = R x Cy = 400s, EUik/hE,
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